=
<
I

1000/c 2do)/d(m_1 + m_2) [1/GeV]
|_\
(@)

e
< S
ES w

107
107°
1077

1078

[EEY

Ratio to CMS

0.5

7000 GeV pp Jets
T rrrrrrprroro ot e e e T T ] g
= Filtered Jet Mass(anti-kT(0.7), 2450<p <500, |y|<2.5) ?E%
_ =
= =~
— o
I A
= o
— —
B s
= El
= ==
_ T
- [
o ES
L S|
= | =Kol
— ! ey
B | 1.2
= | m CMS - =X
— | --3-- Herwig 7.1.1 default 4=
= | —a— Pythia 8.170 default . Z2
= | ¢+ Sherpa 1.4.0 default 4@
= . Ho
— ! - §
B 1 1
= ., HE
g =
— -2

1
| —0.5
| L 1 1 1 1 | L 1 1 1 1 L | L 1 1 L 1 L 1 L | L 1 L 1 L 1 L I“ L | L 1
0 50 100 150 200

(m_1+m_2)/2[GeV]



	Contents
	Page 1


